TEHREREX[IEBE]

SFN2HEAR IR

i1 —2 BRAERINES |
ENPNEN
I=8 7;;%,?@@ TEEER
ZIES RARES RIBREA
THR (BR#&) | B0 F B B ~ B =3 = B TEIEE| B =
& B 8 T 5 8 3 K E = & 8
= # B 8 gz £z K2
188 Gitipll a b c d e a b b c d e a a b b’ d e
1 Fe LA I I{AH—#%| +30| +15/ O -50| -10
I Be@Rifisd | +35| +15| | O -50| -10
2 fETINR I fEIE2 35| +15/ O -20| -50 +70 +35 o) -50| -15
I T 28R 35| +15/ O -20| -50| +10 +50 60| -15
I.LZEXyH +35| +15| O 20| -50| +12 +6.0 60| -15
IV XU5MES R +30| +15| O 20| -50
SHEERERO | I .HEKH +40| +20| © -30| -10 +10| +758| +50| +25 o) -60| -15
HXREZ [ I.68 +40| +20| | O -30| -10 +11] +80| +55| [+30 0 -60| -15
m.ERIEZ +4.0 +20 -30| -10| +70 +35 0 -50| -15
4 BIBRTXSE [ BIBTX - BERIEN %2 0
S5ARME K3 | pEA0EMS | | 20| +75| +50| +25
DB REST (1+2+3+4+5) =i = =i
IER (BS5ENEREEH) X1 |@ =@ = |@ =
FIRE m X B R EE R A=DX04 = |B=@X0.2 = | C=QX04 =
6 s IEREt (A+B+C) =
T EDETE X4 CERETEDIIE. ITHBHERSE LIIEEENTTD) 00 =
8 HIERSE 7 IR — 8 EBETE= =

P B %5

(&EB&)

(IHEIFRR)

(=E&)




